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4= =33 M SYFHD
HE: Qs HESE
Sl MolsolYs (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
dY sge ds33 XE 1,938,286 1,765,614 172,672
= 1,721,000
< 217,286
308 AHAIEHHSOIA 1,938,286 1,765,614 172,672
= 1,721,000
< 217,286
01 HIXNHHNBHELS 1,938,286 1,765,614 172,672
O3dYE =g =83 N (NE3) 1,907,286
= 1,690,000
< 217,286
OFY =g =z X (2El) 31,000
= 31,000
SEEY U= = N 290,160 192,960 97,200
308 XXIEHHSOIA 290,160 192,960 97,200
01 HXNHHNBHELS 290,160 192,960 97,200
SEEY Fu=sgo 3 N 290,160
sXol822 X 1,193,835 358,710 835,125
J| 1,193,835
308 AHAIEHHSOIA 1,193,835 358,710 835,125
J| 1,193,835
01 HXNHHNBMNEES 1,193,835 358,710 835,125
OsXolg2el X 1,193,835
J| 1,193,835
SESSHEA SIS X S (HSAIY) 116,000 115,400 600
308 XXM SO A 116,000 115,400 600
01 IXNHHMBNEES 116,000 115,400 600
O=Z3SHaAL 2FAL XA 116,000
sEMEs20ts 2435 551,419 502,512 48,907
= 407,564
< 143,855
201 Let24d] 8,000 10,000 A 2,000
01 At 2teltl 8,000 10,000 A 2,000
SENEgsL0Ss 222 MA 8,000
308 AHAIEHHSOIA 543,419 492,512 50,907
= 407,564
< 135,855
01 HIXNHHNBMNELS 543,419 492,512 50,907
SEMESL0S ARY & EE0HY X 543,419
= 407,564
< 135,855
sEMEs20ts NEXN 2B 3,645 4,050 A 405
201 LBt 1,620 1,800 A 180




4= =73 SN SYFHD
Hu: gs ¥ESE
Sl MolsolYs (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
03 A2 I 1,620 1,800 A 180
OsEMEz2d0is N&X A& 1,620
301 LA F 2,025 2,250 A 225
09 #HALAHIXI &3 2,025 2,250 A 225
OsEdgs20S ANEXN F3s S S 2,025
SEMEs20ts st AL A& 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 It S AHE L 30,000 30,000 0
OsSZEHMEFTA0IS SO EA K& 30,000
SEMEs20s &2 u=s 13,313 13,641 A 328
= 11,282
< 2,031
308 XX EHSOIA 13,313 13,641 A 328
= 11,282
< 2,031
01 HIXNHHNBMNEES 13,313 13,641 A 328
OsZEHEF20IS dLs U= 13,313
= 11,282
< 2,031
ANl Hsg 43 XY 442,400 237,000 205,400
= 392,000
< 50,400
308 XXM SOIA 442,400 237,000 205,400
= 392,000
= 50,400
01 AXHHILEES 442,400 237,000 205,400
OMaZ=sY 2435t XI& 442,400
= 392,000
< 50,400
ANeade sE22 X2 156,000 78,000 78,000
= 120,000
< 36,000
308 MXIEHMSOIH 156,000 78,000 78,000
= 120,000
< 36,000
01 HXNHHBHELS 156,000 78,000 78,000
OXEtte ss22 X 156,000
= 120,000
< 36,000
HsHELY =2 E3tuws X 8,100 8,100 0
308 XXM SO A 8,100 8,100 0
01 IXNHHBNEES 8,100 8,100 0
OAsHELY =0 3lWE K& 8,100




AETICEE SN SYFHI
Hu: gs ¥ESE
Sl MolsolYs (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HsHE 822 HH 8,000 10,000 A 2,000
201 £B-2d| 8,000 10,000 A 2,000
01 At 22l 8,000 10,000 A 2,000
OAsFHE EE2S2 MH 8,000
= AsAHEHHEE It 7,500 15,000 AT,500
201 Zet24l 7,500 15,000 A7,500
03 A2 ZHl 7,500 15,000 AT,500
O=td AsHELHS ot 7,500
H=sHE SXXNA 1,449,500 0 1,449,500
= 1,115,000
< 334,500
308 XXM SOIA 1,449,500 0 1,449,500
= 1,115,000
< 334,500
01 AXHHIYEES 1,449,500 0 1,449,500
OFAsHE RIXNA 1,449,500
= 1,115,000
< 334,500
HsAHELYN FFD S22 08 U203 10,000 0 10,000
201 Let24d] 7,600 0 7,600
03 AH2 St 7,600 0 7,600
OFsHELW A0 SStZZ2 I dWUED
3| 7,600
301 LeEBAF 2,400 0 2,400
09 SALEHIX A S 2,400 0 2,400
OFsHELW A0 SstZ2 dNUED
2| 2,400
SEIFHAMNE 64,671,592 49,964,704 14,706,888
= 1,609,340
s 55,647,000
< 7,415,252
OlcHo stz 2A4g F& 3,000,800 0 3,000,800
403 XIS E X201 & 3,000,800 0 3,000,800
01 X SHHX2E = 3,000,800 0 3,000,800
OO0lcHolf stk AE S X101 bl 3,000,800
Fd ==23XNe LA 1,427,500 2,407,500 980,000
= 1,427,500
403 A X EHHS 20l A 1,427,500 2,407,500 980,000
= 1,427,500
01 X EHHMA=LE L 1,427,500 2,407,500 980,000
O&8Y sEES3iel ZEAY 1,427,500




42 533 SN sAFBDY
HE: Qs HESE
Hel: sSEFFAHAMY (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

| = 1,427,500

SEQE MHlA & HEDF 11,292 14,204 A2,912
= 6,840
< 4,452

201 £B-2dH| 2,400 2,400 0

01 At 22l 2,400 2,400 0
OsHELUE AlgetdFZ 2,400

308 XXM SO A 8,892 11,804 N2,912
= 6,840
< 2,052

01 IXNHHBNEES 8,892 11,804 AN2,912
OsHELE M NEXA 8,892
= 6,840
< 2,052

SESAX 2435 A 29,773,000 30,492,000 A719,000
s 29,773,000

403 A X EHHS =0l A 29,773,000 30,492,000 A719,000
s 29,773,000

01 X SHHX2E= 29,773,000 30,492,000 A719,000
OsESHA 243 A 29,773,000
as 29,773,000

ANz A&Zs ALY 1,736,000 1,467,000 269,000
s 1,736,000

308 AHAIEHHSOIA 1,736,000 1,467,000 269,000
s 1,736,000

01 HXNHHNBMNEES 1,736,000 1,467,000 269,000
OAlZ 923 ALY 1,736,000
s 1,736,000

SEAEASHAAMY 9,310,000 4,410,000 4,900,000
ras 9,310,000

403 MtXISHHE X201 & 9,310,000 4,410,000 4,900,000
as 9,310,000

01 XM A=2EE 9,310,000 4,410,000 4,900,000
OsEMEASHAAY 9,310,000
s 9,310,000

SZEHOSY HAZZ O HLX A (MEAY) 410,000 195,000 215,000

308 XtXIEHH SOl A 410,000 195,000 215,000

01 X HHILEES 410,000 195,000 215,000
OFFA sEHOISd AAHZZ20H HEXA 130,000
OZsz =ZHOSE AT IY WL 280,000

JI=MENET Y 14,828,000 6,800,000 8,028,000
as 14,828,000
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42 533 SN sAFBDY
HE: gy HESE
2| |AESIAIYE 4 (2 &HH)
- — — L=
AR .24 - FHH .G (3H) - NSAY - BES Ol At o ﬁlgﬁ HRE2
= 51,000
& 15,300
308 XHXIEH SO0l A 66,300 66,300 0
= 51,000
&< 15,300
01 AIKSHHEMNEX= 66,300 66,300 0
OsEsMXA 66,300
= 51,000
& 15,300
SERSANE 174,200 182,000 AT7,800
= 134,000
=} 40,200
308 MXISHMSOIA 174,200 182,000 AT7,800
= 134,000
& 40,200
01 IXHHIMNEEXTZ 174,200 182,000 ANT7,800
OsZEfsX& 174,200
= 134,000
& 40,200
JdALSAMAN=ZH AL 22,141 4,568 17,573
J| 19,780
= 2,361
308 XXIEHSOIA 22,141 4,568 17,573
Jl 19,780
= 2,361
01 AIXSHMENMNEX= 22,141 4,568 17,573
OZAENMEE=MAIE 22,141
J| 19,780
& 2,361
SEEAMY SAH(MEAIY) 791,000 1,165,000 A 374,000
403 XX SHHS K20 & 791,000 1,165,000 A 374,000
01 XIS A=Z2E X 791,000 1,165,000 A 374,000
OsEdY &4 791,000
SN2 HX - JI2 -8 AMEXS(HEAY) 2,100,000 3,065,000 A 965,000
403 XX SRS K20 & 2,100,000 3,065,000 A 965,000
01 MXHHE2E =X 2,100,000 3,065,000 A 965,000
OsdZ2 HEX -2 -8 AMEX&E 2,100,000
SEEHSANINE 22X 120,000 120,000 0
= 60,000
o=t 60,000
307 212t0| & 120,000 120,000 0
= 60,000
o= 60,000
02 DIZHE AAIRE E X 120,000 120,000 0
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> A
A & 0l & AF 2 E A A
20218 & =204k LB sEF ~ =8 =
BEEREE SN RSN
M =9 WA L3
Sl HBASARY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
FIl=s A 251,576,818 143,904,403 107,672,415
= 62,242,790
s 215,000
J| 150,411,954
< 38,707,074
=g e 25t 251,466,947 143,843,309 107,623,638
= 62,242,790
s 215,000
J| 150,411,954
< 38,597,203
HEd=sHsY 26,858,019 24,403,720 2,454,299
= 19,273,176
s 215,000
2l 100,000
< 7,269,843
Bz 2 1,443,200 1,443,200 0
= 1,443,200
308 MtXIEHSOIH 1,443,200 1,443,200 0
= 1,443,200
01 AXHHILEES 1,443,200 1,443,200 0
Otz =A 1,443,200
= 1,443,200
dEdsy Jleg = 286,670 340,000 A 53,330
s 215,000
< 71,670
403 UHXSHHSA=0l& 286,670 340,000 A 53,330
s 215,000
< 71,670
01 HXSHMA2E X 286,670 340,000 A 53,330
Ozgd=g Jlgt = 286,670
s 215,000
< 71,670
=I1EHZ2 X& 9,892,263 9,892,263 0
= 8,424,000
=) 1,468,263
308 XXM SO A 9,892,263 9,892,263 0
= 8,424,000
=) 1,468,263
01 AXHHBISEES 9,892,263 9,892,263 0
O®JIZdlg XN& 9,892,263
= 8,424,000
< 1,468,263
FIsSNUM X3 209,821 209,821 0
2 144,704
< 65,117
308 MXIEHMSOIH 209,821 209,821 0




M ox
40 5 4

R.RA-ZE-G(HH) - HRAY - BES il H D = 2t
= T47,704
= 65,117
01 AXNSHHBLEES 209,821 209, 821 0
ORIN=sSNUHM K& 209,821
= 144,704
< 65,117
RISUSSSAMEIAXAHR =4 4,075,500 2,899,000 1,176,500
= 3,135,000
= 940,500
403 XAtXIHM S K201 ™ 4,075,500 2,899,000 1,176,500
= 3,135,000
= 940,500
01 X SHHMA 28X ,075,500 2,899,000 1,176,500
ORJIIsI=ESF M A RNJASX ZHALS 4,075,500
= 3,135,000
< 940,500
SHSZIEMITZ2 0 AtY 382,500 127,500 255,000
= 300,000
< 82,500
308 XXX SO0 382,500 127,500 255,000
= 300,000
< 82,500
01 AXNSHBLEES 382,500 127,500 255,000
O=sgesdE2dI=2 038 AY 382,500
= 300,000
< 82,500
YA =2 KA 2,642,269 2,642,269 0
= 2,032,512
= 609,757
308 XXM S0l A 2,642,269 2,642,269 0
= 2,032,512
= 609,757
01 IXNSHHBANEES ,642,269 2,642,269 0
Ogut e Jatdsdts N2AY 2,642,269
= 2,032,512
== 609,757
XEtd 280l W XA 180,000 200,000 220,000
308 XX EHHSOIA 180,000 200,000 A 20,000
01 IXNHHMBAMNEES 180,000 200,000 220,000
Ozl 240l s X& 180,000
Fllsg 20X 2 28,800 14,400 14,400
308 XXM S0 A 28,800 14,400 14,400
01 AXSGHBLEES 28,800 14,400 14,400
Rllsg d82J=X BE= 28,800
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A= =533 SH RIS
Ha: s A L
Sl HBASARY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
04 DI2HHALALSE E X 20,000 20,000 0
OzZ=el A X 20,000
7)== =g 2" XA 23,904 23,904 0
307 glz2tol & 23,904 23,904 0
02 HAHFHAANGFEX 23,904 23,904 0
ORJls Bdsge o X3 23,904
R:)l=s 2E EUHE A s N 24,960 31,200 A6,240
308 MtXIEHMSOIH 24,960 31,200 A6,240
01 AXHHILEES 24,960 31,200 26,240
ORJls s &UE RAS WE XL 24,960
daEdsits ssIt |4 180,693 240,040 A59,347
308 A EHHSOIA 180,693 240,040 A 59,347
01 HXNHHNBHEELES 180,693 240,040 A59,347
Ozgdsdts st 54 180,693
7lls s UE5sI SFEHH| 496,170 656, 100 A 159,930
308 XX EHSOIA 496,170 656, 100 A 159,930
01 IXNSHHBNEES 496,170 656, 100 A 159,930
ORIls Bs< AsSsIH 8228 496,170
2022 W LAIHI R I s et A AL I X 1,320,000 0 1,320,000
306 =932 1,320,000 0 1,320,000
01 &3 1,320,000 0 1,320,000
02022 LN ARI s HMAL I 1,320,000
DLNHAS I s &G A AT 2,000 0 2,000
202 4l 2,000 0 2,000
01 = LH 4 b 2,000 0 2,000
OULAHARIISHHA AL =& I NS+
= 2,000
ELMEH 2= 4,685,377 4,704,073 A 18,696
= 3,793,760
< 891,617
308 XXIELHSOIA 4,685,377 4,704,073 A 18,696
= 3,793,760
< 891,617
01 X HHILEXS 4,685,377 4,704,073 A 18,696
OELMHEH EX 4,685,377
= 3,793,760
< 891,617
SIS HEH MAAIE S 130,000 71,500 58,500
J| 100,000
< 30,000




NERICEE SN RIS
M=ol AWM L3
ool AHASASY CERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 130,000 71,500 58,500
J| 100,000
< 30,000
01 X SHMA2E X 130,000 71,500 58,500
Oz ZEH AL s 130,000
J| 100,000
< 30,000
ANHHRESY 158,994,537 76,739,244 82,255,293
= 7,755,400
J| 143,401,930
< 7,837,207
g SAx=H 142,442,000 0 142,442,000
J| 142,442,000
308 XXM SO A 142,442,000 0 142,442,000
J| 142,442,000
01 IXNHHBNEES 142,442,000 0 142,442,000
OJdled SAX=H 142,442,000
J| 142,442,000
gsdAEM(=0122) 273,930 0 273,930
J| 273,930
308 XtXIEHH SOl A 273,930 0 273,930
J| 273,930
01 X HHILEES 273,930 0 273,930
Og=dAEM (=022 273,930
J| 273,930
SAAEN AtG22lHI(Z) 30,000 30,000 0
J| 30,000
201 £B-2dH| 20,000 15,000 5,000
J| 20,000
01 At 22l 20,000 15,000 5,000
OZ3AA=EHM At 22l 20,000
J| 20,000
202 044l 10,000 15,000 A5,000
J| 10,000
01 = LH o4 1l 10,000 15,000 A5,000
OZdA=HM XK= 10,000
J| 10,000
SAREN AtG 28I (AlZ) 656,000 470,800 185,200
J| 656,000
308 MtXIEHMSOIH 656,000 470,800 185,200
J| 656,000
01 HXNHHBHEELS 656,000 470,800 185,200
SAXMEN A 2tel 656,000
J| 656,000




o= s38= M RIsLH
M =9 WA L3
ool AYNESEY (29 & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
H 2ESXHU XN 746,685 829,650 A 82,965
308 AHAIEHHSOIA 746,685 829,650 A 82,965
01 HXNHHBHELS 746,685 829,650 A 82,965
Ol &3 XA 746,685
=g 2= dsM X 1,618,077 2,200,000 A 581,923
308 XX EHH SOl 1,618,077 2,200,000 A 581,923
01 HIXNHHNBNEES 1,618,077 2,200,000 A 581,923
O=sg 2+ M X 1,618,077
352 SEREY X -8 193,200 262,500 269,300
403 MtXISHHE X201 & 193,200 262,500 269,300
01 X S22 = 193,200 262,500 269,300
OL13ZE H s2% &X -2 193,200
DSBASH0| MUK T4 194,400 194,400 0
308 MtXIEHMSOIH 194,400 194,400 0
01 X HHIBLEXS 194,400 194,400 0
OHSASH0| MG |4 194,400
ogdstd sIIH XN&E 221,000 91,000 130,000
= 170,000
< 51,000
403 UHXSHHSA=0l& 221,000 91,000 130,000
= 170,000
< 51,000
01 HXSHMA=E X 221,000 91,000 130,000
OWdstd sIIH X 221,000
= 170,000
< 51,000
sZIIH SaEFX 23 X 240,700 185,600 55,100
= 166,000
< 74,700
308 XXM SO A 240,700 185,600 55,100
= 166,000
< 74,700
01 AXHHBILEES 240,700 185,600 55,100
OsgllH sst&EX 22 X& 240,700
= 166,000
= 74,700
X ADESY ANEAS(X2) 7,742,000 0 7,742,000
= 6,860,000
< 882,000
403 A X EHHS 20l A 7,742,000 0 7,742,000
= 6,860,000
< 882,000




M ox
40 5 4

MRS S Y (crl ®a)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
01 XIS A2 X 7,742,000 0 7,742,000
OLX ANEsSY AIEAY(X2) 7,742,000
= 6,860,000
o= 882,000
LA ADE=Y ABAE (HAN 650,000 0 650,000
= 500,000
& 150,000
308 MXISHHMSOIA 650,000 0 650,000
= 500,000
& 150,000
01 AXHHIMNEXS 650,000 0 650,000
LR AGGEsSsY ABHAY(HA 650,000
= 500,000
& 150,000
AsIIAHG &H 23 300,000 300,000 0
403 XX SHHMS K201 A 300,000 300,000 0
01 XS A=2E X 300,000 300,000 0
O9=J|AH3 &HH =22 300,000
s & MU AMdEH &9 XS 330,000 330,000 0
308 XHXIEHSOIA 330,000 330,000 0
01 AIXSHMEMNEX= 330,000 330,000 0
O=s2Y Hd MElAHME 29 X 330,000
ey ssZY9arE) 32 75,600 75,600 0
403 XX SHHS K20 & 75,600 75,600 0
01 XIS A=Z2E X 75,600 75,600 0
Orlsd ssZ29aE) 33 75,600
sS& otMAIE &Hl X 64,800 72,000 AT,200
308 AMXISHMSOIA 64,800 72,000 AT,200
01 HXHHIMNEEXTZ 64,800 72,000 NT,200
Os2Y otE Al &dl A& 64,800
sIIH S22 XN 321,300 321,300 0
308 XX SHHSOIH 321,300 321,300 0
01 AIXSHMENEXZ 321,300 321,300 0
OsJIH s&e2g & 321,300
MNHs M)ls sEEEXN B3 20,000 20,000 0
308 XHXIEHSOIA 20,000 20,000 0
01 AIKISHHEMNEXZ 20,000 20,000 0
OfNA= M)l sEEE2X 23 20,000
MEHs AN X 40,000 40,000 0




BEEREE SN RISAD

Ha: s A L

ol MRS SY CER-ED
- _ _ RE]

AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
307 2Iz2to| & 40,000 40,000 0
04 SIZ2ISHAAIH E & 40,000 40,000 0

OfNMA= A K& 40,000
LEMANHAS W A4 7,500 15,000 A 7,500
307 2izto| A 7,500 15,000 A7,500
02 QIZIA AAIE E X 7,500 15,000 AT7,500
ORLFEMNAs 2L A 7,500
=E2 HAsA AsI |4 A 400,000 400,000 0
308 AMXISHMSOIA 400,000 400,000 0
01 X HHIMNEEXTZ 400,000 400,000 0]
O H3sA A= 4 K& 400,000
NESEA MATHHY &EF N B3 205,800 163,800 42,000
308 XX SHHSOIH 205,800 163,800 42,000
01 AIXSHMEMNEXZ 205,800 163,800 42,000
OSSN MaETHE &2&E I 22 205,800
S OtM AtE22 e X3 10,000 10,000 0
307 2iz2to| A 10,000 10,000 0
04 SIZ2ISHAAISH E & 10,000 10,000 0
Os2 otd At s X 10,000
2=AHXD| 22 67,500 75,000 AT7,500
403 XX SHHS K20 & 67,500 75,000 A 7,500
01 XIS A=2E X 67,500 75,000 AT7,500
O=2sdx) 23 67,500
SHXE 89 16,200 16,200 0
201 et 15,000 15,000 0
01 AR 22l ] 15,000 15,000 0]
OgBrA AL ZH| 15,000
203 R F & 1,200 1,200 0
03 AIZH =X 2= X H| 1,200 1,200 0
ORI sARHAIZH F=&X 1,200
=&=2 Mol2E X 2,000,000 3,000,000 A 1,000,000
308 XHXIGHH SO0l & 2,000,000 3,000,000 A 1,000,000
01 AIKSHHENEXZ 2,000,000 3,000,000 A 1,000,000
Os&2 MlEE X& 2,000,000
Sol OFM=EES ZEALE XNEAY 77,220 78,936 A1,716
= 59,400
=} 17,820
403 XX SRS K20 & 77,220 78,936 A1,716




42 =12 SN RIS
Ha: s A L
ool AYNESEY (29 & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 59,400
=) 17,820
01 AXISHHA=2E = 77,220 78,936 21,716
O=dl OFES=S ZEAE XNFALY 77,220
= 59,400
< 17,820
2l 2=MEX(2 H28) N 50,625 56,250 A5,625
403 Ut S S A201 & 50,625 56,250 A5,625
01 XXM A2E = 50,625 56,250 25,625
OJElUtl sxMEX(EM3S) N 50,625
Jgde NAsSsa=s 88 |4 33,200,279 16,682,095 16,518,184
= 17,423,667
J| 6,910,024
< 8,866,588
A== DSE AMESUH MY 1,261,500 1,624,000 A 362,500
J| 870,000
< 391,500
403 A X EHHSH20IA 1,261,500 1,624,000 362,500
J| 870,000
< 391,500
01 X SHMA=LE L 1,261,500 1,624,000 A 362,500
Ot NEE AMESU3 ALY 1,261,500
J| 870,000
< 391,500
BAMZHACI It L ALS 1,566,280 1,235,970 330,310
J| 1,457,000
=) 109,280
403 UHtXISHH S0l & 1,566,280 1,235,970 330,310
J| 1,457,000
=) 109,280
01 AXISHHA=2E = 1,566,280 1,235,970 330,310
O MACT JIBFEH ALY 1,566,280
J| 1,457,000
< 109,280
==HE APCHE XA 4,942,000 3,295,500 1,646,500
J| 3,295,000
< 1,647,000
403 XIS E X201 E 4,942,000 3,295,500 1,646,500
J| 3,295,000
= 1,647,000
01 X SHHAN2E= 4,942,000 3,295,500 1,646,500
OL=HE APCHE X & 4,942,000
J| 3,295,000
=) 1,647,000
TSSSWA WLEAHATH AHAY 368,030 351,000 17,030




M ox
40 5 4

S .o2h B (3H) - MEAY ﬁlf& HDS2

= 783,700
== 84,930

308 AXISHMSOIHA 368,030 351,000 17,030
2 283,100
= 84,930

01 XHHNBIMNEXTS 368,030 351,000 17,030
OxSs280a WY2tAal I 368,030
= 283,100
o= 84,930

waEdHE 4 315,000 315,000 0
Dl 180,000
& 135,000

308 XX SHHSOIA 315,000 315,000 0
Dl 180,000
& 135,000

01 AIXHHBAAEXZ 315,000 315,000 0
OonaeEdE =4 315,000
Jl 180,000
== 135,000

AE20 S 418,438 404,709 13,729
J| 288,578
= 129,860

403 XX S S K201 A 418,438 404,709 13,729
J| 288,578
o= 129,860

01 MHXSHNMAHESEE = 418,438 404,709 13,729
OAE20 StHst 418,438
Dl 288,578
& 129,860

D3 HIOE THHHAIE XI& 99,000 268,000 A 169,000
Jl 99,000

403 XX S M S X201 A 99,000 268,000 A 169,000
Jl 99,000

01 MXHHAEBE = 99,000 268,000 A 169,000
O3 HIJIE THHHAIE XI& 99,000
Jl 99,000

AE20 X082 5835 AF(R 317,595 340,561 A 22,966
= 317,595

403 XX S M S K201 A 317,595 340,561 N 22,966
= 317,595

01 AIXISHM A 22X 317,595 340,561 N 22,966
OANE20 dUXoE s83 AP ( 317,595
= 317,595

AE20 odidXIolEg a83 AFE (X 972,972 0 972,972
= 972,972




CRA S (BH) - il HlnE2
403 UHXSHHSA=0l& 972,972 0 972,972
=2 972,972
01 HXHMA=LE X 972,972 0 972,972
OAEZ&0U oHXIolE 83
) 972,972
= 972,972
Ola MAAlAE S O3 327,862 311,750 16,112
J| 226,112
< 101,750
403 A X EHHSH20IA 327,862 311,750 16,112
J| 226,112
< 101,750
01 XM A= E L 327,862 311,750 16,112
OQlat MAPAIA S 3t 327,862
| 226,112
< 101,750
HA MAAE SHUF 319,138 349,305 A 30,167
| 220,095
< 99,043
403 MtXISHHE X201 & 319,138 349,305 A 30,167
| 220,095
< 99,043
01 XM A=2E X 319,138 349,305 A 30,167
OBA MAaAE S 319,138
J| 220,095
< 99,043
ANEJU ICT 858 ot AtY 249,911 233,525 16,386
| 192,239
< 57,672
403 Ut S E X201 H 249,911 233,525 16,386
| 192,239
< 57,672
01 X HHX2E= 249,911 233,525 16,386
OAE30 ICT 828 =& A 249,911
| 192,239
< 57,672
Ed NGEHSHS §4 339,000 400,000 A 61,000
403 MHXHHSA=0l& 339,000 400,000 261,000
01 HXSHMA2E X 339,000 400,000 A 61,000
Oz &d NYEsa=E 5 339,000
HEtd XS FAWMMALE B 300,000 300,000 0
403 UtXISHH S0l & 300,000 300,000 0
01 AXSHMA2E X 300,000 300,000 0
Oded &asd JA e 300,000




M ox
40 5 4

% = 4 14
22N ZE -G (3H) e bl D=2t
A= S E2 MAZH X 243,950 300, A 56,050
403 UHXISHHSA=0l& 243,950 300, 256,050
01 XM= E L 243,950 300, A 56,050
O+ =B H4FY 243,950
ol XIFASEH 2= 91,500 91, 0
308 AXIEHH S0 A 91,500 91, 0
01 HIXNHHNBNEES 91,500 91, 0
ooy NASTH = 91,500
2oE=E s N 16,500 21, A 4,950
403 MtXISHHE X201 & 16,500 21, A 4,950
01 XM A=2EE 16,500 21, A 4,950
ORUA=E s&HU X 16,500
e SEEY UM 270,000 270, 0
308 XX EHHSOIA 270,000 270, 0
01 X HHIBLEXS 270,000 270, 0
Ot & I XA 270,000
TEA ALERNES EXS M XA 60,143 66, AN6,682
308 XXM S0 A 60,143 66, A 6,682
01 AXSGHBLAEES 60,143 66, N6,682
OzEd AEJAME 60,143
B==Z0F FTA AIS H & =2 68,000 124,000 A 56,000
| 68,000
202 oddl 8,000 8, 0
| 8,000
03 22 L0l 8,000 8, 0
OL===20F FTA AtS H & = 8,000
J| 8,000
308 XXl EHH SOl A 60,000 116, 256,000
| 60,000
01 HIXNHHNBHELS 60,000 116, 256,000
OL===0F FTA At 60,000
| 60,000
destad olsa A=s012 X 53,160 90, A 36,840
308 XXX SO0 53,160 90, A 36,840
01 AXSGHBLAEES 53,160 90, A 36,840
Onlt==3staty olsA 53,160
WA=Z20F ADEE S ALA 20,300 33, A 13,050
| 14,000
< 6,300




M ox
40 5 4

AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2

403 UHXSHHSA=0l& 20,300 33,350 A 13,050
9] 14,000
< 6,300

01 X SHMA2E X 20,300 33,350 A 13,050
Olt=20F AGLET SAALY 20,300
| 14,000
< 6,300

HOIRESH=sH=2EEHI =4 12,825,000 2,990,000 9,835,000
= 9,550,000
< 3,275,000

403 MtXISHHE X201 & 12,825,000 2,990,000 9,835,000
= 9,550,000
< 3,275,000

01 XM A=2EE 12,825,000 2,990,000 9,835,000
OHOIREH=sHA=SHEHI =4 12,825,000
= 9,550,000
< 3,275,000

NASs AMHE ANER =4 7,650,000 0 7,650,000
= 6,300,000
< 1,350,000

403 RXSHHSK =0l & 7,650,000 0 7,650,000
= 6,300,000
< 1,350,000

01 X SHHMA=2LE L 7,650,000 0 7,650,000
OXNEEs 2Usg AMEE =4 7,650,000
= 6,300,000
< 1,350,000

destad HEs S4XE 105,000 0 105,000

403 MtXSHHSA=0l& 105,000 0 105,000

01 RHXISHAEEE 105,000 0 105,000
Ottt HHAES SHEXE 105,000

SSMADIBEE Y 32,414,112 26,018,250 6,395,862
= 17,790,547
< 14,623,565

B 4 JH &1 AL 24 6,100,000 4,877,000 1,223,000
=2 6,100,000

402 RIZFX20l A 6,100,000 4,877,000 1,223,000
= 6,100,000

02 QI EAIL B (01T ) 6,100,000 4,877,000 1,223,000
Obi=IH& A 6,100,000
= 6,100,000

SHEUHHI =02 ALY 1,226,250 1,226,250 0
= 1,090,000
< 136,250




4R =33 2N RIISAD
M =9 WA L3
S9SN AIIBEY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 1,226,250 1,226,250 0
= 1,090,000
& 136,250
01 X SHMA2E X 1,226,250 1,226,250 0
Ot HHI E==IH L AL 1,226,250
= 1,090,000
< 136,250
2Ol E ALY (M B AIY) 2,329,000 4,443,000 A 2,114,000
403 MtXISHHE X201 & 2,329,000 4,443,000 A 2,114,000
01 AXISHHA=2E = 2,329,000 4,443,000 A 2,114,000
OJ|IEHEHI ALY 2,329,000
e X el (HEAY) 4,418,000 5,068,000 A 650,000
403 XIS S X201 & 4,418,000 5,068,000 A 650,000
01 XXM 22 = 4,418,000 5,068,000 A 650,000
o=z&dXEelAZ 4,418,000
ANl AIEHE =AY (HEALY) 4,590,000 7,842,000 A 3,252,000
403 MHXSHHSA=0l& 4,590,000 7,842,000 A 3,252,000
01 HXSHMA=LE L 4,590,000 7,842,000 A 3,252,000
OAZelAIEHE =AY 4,590,000
A2 SN E A (HEALS) 1,123,000 1,305,000 A 182,000
403 X SHHS =0l & 1,123,000 1,305,000 A 182,000
01 HXSHMA2E X 1,123,000 1,305,000 A 182,000
O27E ==& ALY 1,123,000
It sZEII8tAI4E FHIAMY 197,500 1,000,000 A 802,500
403 MtXISHE X201 & 197,500 1,000,000 A 802,500
01 X SHHA2E = 197,500 1,000,000 A 802,500
OJtSUtH s2E=I|EHAIE ZHHIAY 197,500
SSMADIBEAIAE At 22l 12,000 12,000 0
202 04l 12,000 12,000 0
01 = LH 4 Hi 12,000 12,000 0
O=HMLDEHAIE AL 2tel 12,000
7.28.~8.11. SMll SFAIL (HELER) 4,607,306 0 4,607,306
= 4,607,306
403 XSS X201 & 4,607,306 0 4,607,306
= 4,607,306
01 X SHHAN2E= 4,607,306 0 4,607,306
07.28.~8.11. S Mol =AM 4,607,306
= 4,607,306




cl VRSBIEIESE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
7.28.~8.11. S2Ml EFAML(SHSLAER) 7,811,056 0 7,811,056
= 5,993,241
& 1,817,815
403 UHXISHHSA=0l& 7,811,056 0 7,811,056
= 5,993,241
< 1,817,815
01 HXESHMA=LE L 7,811,056 0 7,811,056
07.28.~8.11. S Mol =AM 7,811,056
= 5,993,241
S 1,817,815
HY 2L (RI=4t) 63,871 61,094 2,777
Jl2 &3l 63,871 61,094 2,777
JlE&l 63,871 61,094 2,777
201 ¢er24] 20,401 19,514 887
01 At 22l 20,401 19,514 887
OJlz+=8Htl 8,326
OJle sl 12,075
202 04l 43,470 41,580 1,890
01 = LH 4 Hi 43,470 41,580 1,890
OP RG] 43,470
HREs(RII=s4tD) 46,000 0 46,000
WEHHX = 46,000 0 46,000
HEHH X = 46,000 0 46,000
705 ==&l 34 46,000 0 46,000
04 Al - EXHHLII S0 == 01 Kt &t &t 46,000 0 46,000
OS2l = 7 AL (2020) 46,000




==
N = 0 & AF S 99 N A
204 LB SHE ~ 5HI
s8= 2N sASERSL
HX 2= DEE sit2 883 4
ANEXESNE SERT L (2 &HH)
- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ol At o %Eﬁ HR=2
Ssi 12,066,830 16,452,685 N 4,385,855
= 4,952,450
Jl 929,453
= 6,184,927
ohE NEE St HE3F 4 12,030,729 16,416,584 N 4,385,855
= 4,952,450
Jl 929,453
o= 6,148,826
AMEXEE SEFE A 9,681,355 12,165,790 N2,484,435
= 3,115,000
J| 881,453
o= 5,684,902
AERERY 14,200 14,200 0
201 et 9| 13,000 13,000 0
01 AP 2t 2] d| 13,000 13,000 0]
OgBrA A= ZH| 13,000
203 R F & 1,200 1,200 0
03 AIZH =& 25 X H| 1,200 1,200 0
OSAEZERSAY =X 1,200
MSE MIIKSEEX 0HHE A 62,400 267,600 A 205,200
J| 54,000
& 8,400
308 XAHXIGH SO0l & 62,400 267,600 A 205,200
J| 54,000
& 8,400
01 AIKISHHENEXZ 62,400 267,600 A 205,200
OsdtE MRS H HAHE X 62,400
J| 54,000
o 8,400
A2 BSHEHEH K& 1,126,101 844,340 281,761
= 1,080,000
= 46,101
308 XX SHHSOIH 1,126,101 844,340 281,761
= 1,080,000
=} 46,101
01 AIXSHMENMNEXZ 1,126,101 844,340 281,761
OsdtE 2s48H X& 1,126,101
= 1,080,000
& 46,101
HN2SEAH S (MXM2AI4) 60,282 119, 400 A59,118
J| 50,235
= 10,047
403 XX SHHS K20 & 60,282 119,400 N59,118
J| 50,235




AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
< 10,047
01 XM A2E X 60,282 119,400 A59,118
OM2FSHHA A (AXM2AE) 60,282
J| 50,235
< 10,047
N2ResHH 2s(d2+851) 37,462 53,700 A 16,238
J| 31,218
= 6,244
403 XIS E X201 E 37,462 53,700 A 16,238
J| 31,218
< 6,244
01 X SHHA2E= 37,462 53,700 AN 16,238
OMS2REMH A (H2+8XHY) 37,462
J| 31,218
< 6,244
S&E MARSAE £ 250,000 250,000 0
403 MHXSHHSA=0l& 250,000 250,000 0
01 X EHMA=E L 250,000 250,000 0
OsttE M4XKFSAE & 250,000
S&E NS SHEH A 450,000 5,307,000 A 4,857,000
J| 300,000
< 150,000
403 MtXISHH S =0l & 450,000 5,307,000 A 4,857,000
J| 300,000
= 150,000
01 XM A=2E X 450,000 5,307,000 A 4,857,000
OsttE MNRsSHH A8 450,000
J| 300,000
< 150,000
SESL R-sSH=E FEUSH 29 45,000 50,000 A5,000
201 et 45,000 50,000 A5,000
01 At 22l 45,000 50,000 25,000
OFE=EL 2+sStt2 SZUSH 22 45,000
st=sRHLXNE FHl N3 21,000 21,000 0
403 UHXSHHSA=0l& 21,000 21,000 0
01 X EHHMA=LE L 21,000 21,000 0
Os&2S2YXE ZH XA 21,000
2A=2IsZIMSLXA 620,000 0 620,000
= 500,000
< 120,000
403 XA SA=0l& 620,000 0 620,000
= 500,000
< 120,000
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
SE=E 22822 ZH BHEs 29 98,800 98,800 0
308 AHAIEHHSOIA 98,800 98,800 0
01 HXNHHBHELS 98,800 98,800 0
OFE=L ¥2Z2ZH 2deEs 29 60,000
Ostts E2EATH e-A2EES SFH XA 38,800
SAE 2HY OHAHE XN ALY 54,000 54,000 0
308 XtXIEHH SOl A 54,000 54,000 0
01 X HHBLEES 54,000 54,000 0
Os4aZ 2t OHAHE XN AL 54,000
1= 1HE 29 AHEH 29 17,000 17,000 0
308 MtXIEHMSOIH 17,000 17,000 0
01 HXNHHNBHELS 17,000 17,000 0
O1Z1E ZHHEH 2SN 17,000
GAPAIE B&HALY 108,000 108,000 0
= 90,000
= 18,000
403 UtXISHHS =0l & 108,000 108,000 0
= 90,000
< 18,000
01 XM A=2EE 108,000 108,000 0
OGAP Ald BetAt 108,000
= 90,000
< 18,000
GAP CtEHEA XIH 461,500 538,200 AT6,700
= 355,000
= 106,500
308 XtXIELH SOl A 461,500 538,200 AT6,700
= 355,000
< 106,500
01 AXHHILEES 461,500 538,200 AT6,700
OGAP Ut =24 X 461,500
= 355,000
< 106,500
AdME ws 243 XA 280,000 240,000 40,000
= 140,000
< 140,000
307 gl2tol & 280,000 240,000 40,000
= 140,000
< 140,000
02 It M AHE L 280,000 240,000 40,000
Oaldansg 43 XA 280,000
= 140,000
< 140,000




4= =33 SN SAERSD
MM AHK OF DEN SA2 EH S4
S AENEE RFS2E A (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
IN=XNAH AEns X3 32,500 0 32,500
= 25,000
< 7,500
308 AHAIEHHSOIA 32,500 0 32,500
= 25,000
< 7,500
01 HIXNHHNBHELS 32,500 0 32,500
OJN=XNRH AMENE X 32,500
2 25,000
< 7,500
SASHSRH™ ALY 585,000 0 585,000
= 450,000
< 135,000
308 XXM SO A 585,000 0 585,000
2 450,000
< 135,000
01 AXHHILEES 585,000 0 585,000
OsASHSH ALY 585,000
= 450,000
< 135,000
SMEANEAH AL 30,000 30,000 0
= 15,000
< 15,000
307 21201 A 30,000 30,000 0
= 15,000
= 15,000
02 It S AMHEL 30,000 30,000 0
Os42 A0EAH ALY 30,000
= 15,000
< 15,000
ANesstE AE &Fs 240 35 17,000 0 17,000
403 Ut SHHSA=0l& 17,000 0 17,000
01 X SHMA2E X 17,000 0 17,000
OXdsdts AilE 7=t 2401 33 17,000
ANage ZESH 2= NJAY 255,000 0 255,000
= 200,000
< 55,000
308 XXM SO A 255,000 0 255,000
= 200,000
< 55,000
01 X HHBILEES 255,000 0 255,000
OXg = 25 & 255,000
= 200,000
< 55,000




M ox
40 5 4

= - — SHE]|
SN B E(BH) - NREMY - BYS e bl D=2t
NS ZEZH 2 (erdze]) XA 65,000 65,000
= 50,000
< 15,000
308 AHAIEHHSOIA 65,000 65,000
= 50,000
< 15,000
01 HIXNHHNBHELS 65,000 65,000
OXY ZEEd 2 (¢d2e]) NEAY 65,000
= 50,000
< 15,000
Hel =2 dAH 25 29 X 18,600 A 2,400
201 LBt 16,900 A2,400
01 At 22l 13,600 A 2,400
o=zg=¢ 9,600
OJIEt =&Hl 4,000
03 A2 Z Hl 3,300 0
O%el =&dH 7= }A3IAS 3,300
301 LA F 1,700 0
09 AL HIXI& 3 1,700 0
OgHel =&MAH = A3AS 1,700
Hel SEX2HE A (MeAg) 1,000,000 535,000
403 HXSHHSA=0l& 1,000,000 535,000
01 X SHHMA=ZLE X 1,000,000 535,000
Og9liel sgXNJdH HE 1,000,000
324 JI2MANA 2 KNI AN 13,000 13,000
= 10,000
< 3,000
308 AXIEHHSOIA 13,000 13,000
= 10,000
< 3,000
01 HIXNHHBNEES 13,000 13,000
OZ23=4 JI2MAHA 25 NFAY 13,000
= 10,000
< 3,000
H M=ol 2 otE XI&AY ,650,000 A410,000
308 XtXIEHHSOIA ,650,000 A 410,000
01 AXHHILEES ,650,000 A410,000
Ol Milsgel BEtd XEAY ,650,000
S Il AN 2e AFY 400,000 220,000
= 200,000
< 200,000
307 21201 A 400,000 220,000
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= 200,000
= 200,000
02 IZtE M AHEE 400,000 180,000 220,000
Osgn J1g 2t A 25 At 400,000
= 200,000
< 200,000
NAHR2 Zdots == I & 386,000 390,000 24,000
stE 25X SHE(HEAY) 316,000 315,000 1,000
403 UtXISHH S X201 & 316,000 315,000 1,000
01 X S22 2= 316,000 315,000 1,000
OsdtE =24 s4 316,000
TESAE NSST AMEEUS 70,000 75,000 A5,000
403 A X EHS =0l A 70,000 75,000 A5,000
01 X EHHMA=E L 70,000 75,000 A5,000
Ox==sAE 33T ANESUs 70,000
= 25 T2 IABHE 54 1,963,374 3,860,794 A 1,897,420
= 1,837,450
J| 48,000
S 77,924
=2 ASEAM It A& 29,700 33,000 A 3,300
308 A EHHSOIA 29,700 33,000 A 3,300
01 HIXNHHNBHNEES 29,700 33,000 A 3,300
O32U ASEAS &It XA 29,700
Nages MSF 24dst N2 13,824 13,824 0
308 XX EHHSOIA 13,824 13,824 0
01 HIXNHHBNEES 13,824 13,824 0
OXdex HEx #4535 N 13.824
=2 dEF E2H2 29 20,000 20,000 0
308 XXIEHHSOIA 20,000 20,000 0
3 2SOHetE & X 2 E A I 20,000 20,000 0
Os= dsF E2 .82 2 20,000
ROt 2T H ALY 62,400 62,400 0
J| 48,000
< 14,400
308 MtXIEHMSOIH 62,400 62,400 0
J| 48,000
< 14,400
01 HXNHHNBHELS 62,400 62,400 0
OO0t LdXF ALY 62,400
J| 48,000
< 14,400
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A & 0l & AF 2 E A A
20218 & =204k LB sEF ~ =8 =
4= =33 SN ELUD
Hu: ENY BYOH
Sl B AW s CEEEED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
=400 19,873,229 22,801,065 A2,927,836
= 3,891,150
J| 8,185,900
< 7,796,179
oy Fgery 14,358,990 16,628,088 A2,269,098
= 71,550
J| 8,185,900
< 6,101,540
Sy 3™ A5t 4,624,604 5,260,269 A 635,665
J| 2,763,142
< 1,861,462
Sy 29 16,200 16,200 0
201 2et24d] 15,000 15,000 0
01 At 22l 15,000 15,000 0
Ot & =2t 15,000
203 YR =&l 1,200 1,200 0
03 AIHF=XH R =AH| 1,200 1,200 0
OZ2MYAH XX 1,200
stER 3YH LA 504,200 504,675 ANA4T5
307 glz2tol & 39,000 40,000 A1,000
04 QIZFHALAIH E = 39,000 40,000 21,000
OF4tl stotstHal X 9,000
O3 U3 A 20,000
OFaatged AZXH N 10,000
308 XtXIEHH SO0l A 465,200 464,675 525
01 AXHHIYEES 465,200 464,675 525
Od= IxAM203 XA 20,000
OstAMaE L)AL 370,350
OSO0LXI 84 OFH HIAF 22,500
O=&& OlaANz=g X 14,850
Ogte a5 MAXA 37,500
ANs& WEHAIDI XD K& 28,800 28,800 0
403 XIS E X201 & 28,800 28,800 0
01 X SHHN2E= 28,800 28,800 0
OXsg whiAlJl X2l XA 28,800
st sOHME X& 397,334 281,844 115,490
J| 286,242
< 111,092
308 MXIEHMSOIH 397,334 281,844 115,490
J| 286,242
< 111,092
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Hu: ENY BYOH
Sl B AW s CEEEED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 397,334 281,844 115,490
Ostds0otMdE X& 397,334
J| 286,242
< 111,092
=4 ICT 82 MY 2,880,000 3,600,000 A720,000
J| 2,400,000
< 480,000
403 MHXISHE X201 & 2,880,000 3,600,000 A720,000
J| 2,400,000
< 480,000
01 X SHHN2E = 2,880,000 3,600,000 A720,000
O=4t ICT 858 ArY 2,880,000
J| 2,400,000
S 480,000
HFAa4d s0ty e - 24 65,000 0 65,000
J| 50,000
< 15,000
308 MtXIEHMSOIH 65,000 0 65,000
J| 50,000
< 15,000
01 HXNHHNBHELS 65,000 0 65,000
Osad sOtd & - 24 65,000
J| 50,000
= 15,000
JI=THoll 2 & 600,000 600,000 0
308 XX EHSOIA 600,000 600,000 0
01 HIXNHHBNEES 600,000 600,000 0
ONEMHEE 600,000
Jt= HAM ™Meldl X 90,000 135,000 A 45,000
403 MtXISHHE X201 E 90,000 135,000 A 45,000
01 X S22 = 90,000 135,000 A 45,000
OJt= HAM Melol K& 90,000
sSEZE S0t #4535 34,970 64,500 A 29,530
J| 26,900
< 8,070
308 MtXIEHMSOIH 34,970 64,500 229,530
J| 26,900
< 8,070
01 HXNHHBHELS 34,970 64,500 A 29,530
Os&2Z s0 243t 34,970
J| 26,900
< 8,070
SE=EL FEUS FN=E ZEH N 8,100 9,000 A 900
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 glz2tol & 8,100 9,000 A 900
02 PIZHEHAHEE 8,100 9,000 A 900
OFE=E FEUS s4=E ZEW N2 8,100
SZF4 J|er 24 6,008,428 7,678,030 A 1,669,602
J| 3,215,479
< 2,792,949
=AM 22 90,000 100,000 A 10,000
308 XXM SO0 A 90,000 100,000 A 10,000
01 IXNHHBNEES 90,000 100,000 A 10,000
ON=EdzM 2= 90,000
EA =M= BL 43,740 43,740 0
308 XXM SOIA 43,740 43,740 0
01 XML EES 43,740 43,740 0
Ogaxd=z US5=sIH |54 43,740
SAMAE EZHH 472,666 583,420 A 110,754
403 A X EHHS 20l A 472,666 557,500 A 84,834
01 X SHHA2E= 472,666 557,500 A 84,834
OrEIFH ALEH B3 315,166
OJ=ExXel ZH B2 90,000
ON=Ecx D8g:s) & 67,500
R RSN 37,800 37,800 0
308 A EHHSOIA 37,800 37,800 0
01 HXNHHNBMNELS 37,800 37,800 0
ElH g5 =&H XA 37,800
SAF O ALY 1,224,573 169,000 1,055,573
J| 941,979
< 282,594
403 A X EHS =0l A 1,224,573 169,000 1,055,573
J| 941,979
< 282,594
01 X EHHM A= LE L 1,224,573 169,000 1,055,573
O 4t FHIH & ALY 1,224,573
J| 941,979
= 282,594
ICT &4H=F JIAHEH XA 386,100 148,960 237,140
J| 297,000
= 89,100
403 X SHHSA=0l& 386,100 148,960 237,140
J| 297,000
S 89,100




4= =33 MmN
Iu: SN FYUH
Helr EIFL DI &4 (Sl & &)
A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
01 AR SHHA 2L 386,100 148,960 237,140
OICT 4H=F JIAHEH X 386,100
J| 297,000
< 89,100
= HHRSHE X 76,000 180,000 A 104,000
J| 40,000
= 36,000
403 A X EHS =0l A 76,000 180,000 A 104,000
J| 40,000
=) 36,000
01 HXSHHG=EE 76,000 180,000 A 104,000
O2+ dHmSHH X& 76,000
J| 40,000
=) 36,000
ElMdl &l K& 307,500 304,000 3,500
J| 307,500
308 MXIEHSOIH 307,500 304,000 3,500
J| 307,500
01 AXHHBEES 307,500 304,000 3,500
Ofldyl&=Hl XI& 307,500
J| 307,500
dHHmESEdst 64,800 64,800 0
308 XX EHH SOl 64,800 64,800 0
01 XN EES 64,800 64,800 0
OHUHIMEX =2 25H 3= 64,800
AL A D|gtE S ALY 752,829 843,410 A 90,581
308 NHXIEHHSO0IE 496,869 587,450 A 90,581
01 AXHHISEES 496,869 587,450 A 90,581
O%EM™MbI(HIE) XA 100,000
Oz ZEM X2 51,450
Od®& Z2samz 018X 36,000
OANZHE HAXH 309,419
403 AXHHSXH=0lA 255,960 255,960 0
01 AXISHHA 2L = 255,960 255,960 0
O=XZMNZ ==FHl X 228,960
OXZMNE IISAE 22 27,000
AHLRIXI (22 01) M = 1,817,280 1,920,000 A 102,720
J| 1,135,800
< 681,480
308 MXIEHMSOIH 1,817,280 1,920,000 A 102,720
J| 1,135,800
< 681,480
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01 HIXNHHNBHNEES 1,817,280 1,920,000 A 102,720
OAdelX(g290l) M=t 1,817,280
J| 1,135,800
< 681,480
IME FEH ZH XA 85,500 85,500 0
J| 45,000
< 40,500
403 MHXISHE X201 & 85,500 85,500 0
J| 45,000
< 40,500
01 X SHHN2E = 85,500 85,500 0
OXAtE 2EH Edl X& 85,500
J| 45,000
S 40,500
IMNE SE22 N 4,420 10,400 25,980
J| 3,400
< 1,020
308 MtXIEHMSOIH 4,420 10,400 25,980
J| 3,400
< 1,020
01 HXNHHNBHELS 4,420 10,400 25,980
OXAtg S22l X& 4,420
J| 3,400
= 1,020
AEEHE SXHH 622,720 838,600 A 215,880
J| 444,800
< 177,920
308 XX EHHSOIA 622,720 838,600 A 215,880
J| 444,800
< 177,920
01 IXNHHBNEES 622,720 838,600 A 215,880
OMEEE SAH 622,720
J| 444,800
< 177,920
SAEAFIHL AME X 22,500 0 22,500
403 MHXISHHE =01 22,500 0 22,500
01 X SHHN2E = 22,500 0 22,500
O=Ab &FIHE A& XA 22,500
et g st d R30I B3 447,429 405,547 41,882
J| 298,792
< 148,637
SN2 23018 &3 59,000 70,000 A 11,000
307 21201 A 59,000 70,000 211,000
04 DIZHHALALSE E X 59,000 70,000 A 11,000




AETICEE SN ESMD
Hu: ENY BYOH
SRl OMSAS Y RSIIB HE CERED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
O=2 stg ez =1 40,000
OUistol=2 =4l BaHE HAEY &IHAA 19,000
MDII0IZH(HEE =) 388,429 335,547 52,882
Jl 298,792
o= 89,637
308 XX SHAHSOIH 388,429 335,547 52,882
J| 298,792
o= 89,637
01 AIXSHMEMNEX= 388,429 335,547 52,882
OADI0EHM(HEE=H]) 388,429
J| 298,792
& 89,637
HE FMI|EH- SEEX A =4 3,278,529 3,284,242 N5,713
= 71,550
J| 1,908,487
& 1,298,492
ASHMA 4 347,600 348,500 A 900
308 XHXIEHSOIA 293,600 294,500 A900
01 AIXSHHEMNEX= 293,600 294,500 A 900
OgzaY AW B3 278,000
OLdE=sI sAlsH 32 7,500
Oss 4803 X 8,100
403 XX SHHS K20 & 54,000 54,000 0
01 XIS A=2E X 54,000 54,000 0
OA=s MAZ XHel&dl K& 54,000
ASHME FEMHBSAY 9,300 18,000 A8,700
= 9,300
308 MXISHMSOIA 9,300 18,000 A8,700
= 9,300
01 AIXSHMENEXZ 9,300 18,000 A8,700
OLXSHE FE2HZ2AY 9,300
= 9,300
ESY FSHAY 56,030 66, 300 A 10,270
J| 43,100
= 12,930
308 AMXISHMSOIA 56,030 66,300 A 10,270
J| 43,100
= 12,930
01 HXHHIMNEEXTZ 56,030 66,300 A 10,270
OESY E4AIY 56,030
J| 43,100
= 12,930




4= sy= SN BT
HE: 249 FHOH
Sol AT EADE S2EX HA X4 EERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
L E X EH XA 11,830 15,597 AN3,767
J| 9,100
< 2,730
403 UHXISHHSA=0l& 11,830 15,597 AN3,767
J| 9,100
< 2,730
01 HXESHMA=LE L 11,830 15,597 A3,767
OZLEEXIEH XA 11,830
J| 9,100
< 2,730
StNRFSA 2,191,544 1,980,167 211,377
J| 1,826,287
< 365,257
308 XXM SO A 2,191,544 1,980, 167 211,377
J| 1,826,287
< 365,257
01 AXHHILEES 2,191,544 1,980, 167 211,377
Ogtuesrasa XA 2,191,544
J| 1,826,287
< 365,257
HAZHA oA 126,400 283,900 A 157,500
308 XX EHH SOl A 126,400 126,400 0
01 X HHILEES 126,400 126,400 0
OXRA YA LAY 126,400
SHMFIEEXN B 20,160 20,160 0
308 A EHHSOIA 20,160 20,160 0
01 HXNHHNBHELS 20,160 20,160 0
O=4 FFEN B2 20,160
IF=IHE ALY 78,000 69,000 9,000
308 XXM SO0l A 78,000 69,000 9,000
01 HIXNHHBNEES 78,000 69,000 9,000
Olns" WX HAHN Z5 60,000
OMS HE(AB=H) ALY 18,000
eIEs) ESMY 30,000 30,000 0
J| 30,000
308 AHAIEHHSOIA 30,000 30,000 0
J| 30,000
01 HXNHHNBHEELS 30,000 30,000 0
Of+=Z= sItE=3 30,000
J| 30,000
SAAE SUHS ALY 120,000 120,000 0
403 XIS E =0l & 120,000 120,000 0




AETICEE SN ESMD
Hu: ENY BYOH
Ee: AAE FSMIBH-S2E2EXN A =4 (2 &HH)
- _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
01 XIS A2 X 120,000 120,000 0
OJIx JIEH3s HEANE K& 120,000
sS=sk s ALE 14,700 34,300 A 19,600
= 12,000
& 2,700
308 XNXISHH SO0l & 14,700 34,300 A 19,600
= 12,000
= 2,700
01 IXHHIMNEXZ 14,700 34,300 A 19,600
Os=2=X s A48 XN 14,700
= 12,000
= 2,700
== B5 .21 140,500 134,100 6,400
308 AHXI IS0l & 140,500 134,100 6,400
01 AIXSHMENMNEXZ 140,500 134,100 6,400
S22 OSAIYE =0 40,500
O=ss:2sdyH 249 100,000
2020 SH3AIY K& 28,776 32,736 A 3,960
= 13,080
= 15,696
308 AMXISHHMSOIA 28,776 32,736 A 3,960
= 13,080
= 15,696
01 HXHAHIMNEEXTZ 28,776 32,736 A 3,960
OZ1DA0 EHESAMY XA 28,776
= 13,080
o=t 15,696
SAa RISE 2 Hs NS 63,189 62,482 707
= 37,170
& 26,019
308 AXIEHMSOIA 63,189 62,482 707
= 37,170
= 26,019
01 REXISHA = 63,189 62,482 707
SIs2 g2 AN 35,700
= 21,000
= 14,700
ORJls=s 27X, S HI2 XN 27,489
= 16,170
= 11,319
2SN Y M AU 40,500 69,000 A 28,500
308 XX IS0l & 7,500 24,000 A 16,500
01 IXHHIMNEEXTZ 7,500 24,000 A 16,500
2SN d20HE 2H 7,500
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AETICEE SN E2AD
Hu: ENY BYOH
Ee: AAE FSMIBH-S2E2EXN A =4 (2 &HH)
- _ RE]
AT SN BH O (3H) - MEAY - BES %Ei HR=2
403 XX SHHS K20 & 33,000 45,000 A 12,000
01 AIXISHHMA=Z2E X 33,000 45,000 A 12,000
=25 AT - I3 A& &H X 33,000
Mg &43 5,357,907 6,027,572 A\ 669,665
= 3,819,600
& 1,538,307
=0 g 4 5,357,907 6,027,572 A\ 669,665
= 3,819,600
& 1,538,307
W= ol AtetE A X 77,400 202,100 A 124,700
= 72,000
& 5,400
403 XX SHHS K20 & 77,400 202,100 A 124,700
= 72,000
& 5,400
01 XIS A=Z2E X 77,400 202,100 AN 124,700
Ol#=H ol Atetd AX| 77,400
= 72,000
o=t 5,400
SMETHULR(HEAIY) 469,000 315,000 154,000
308 MXISHMSOIA 469,000 315,000 154,000
01 IXHHIMNEXZ 469,000 315,000 154,000
OLAMS Y= 469,000
NS ZAHEEAIY) 52,000 35,000 17,000
308 XX SHAHSOIH 52,000 35,000 17,000
11 BI2SUHUSHEAEAE AT Y| 52,000 35,000 17,000
OF=MESXHLE RS U XZA 52,000
SHAIAS MRS AFS (B EAIY) 65,000 137,700 NT2,700
403 XX SHHS K20 & 65,000 48,450 16,550
01 XIS A=2E X 65,000 48,450 16,550
OSAIE SHEAIE NN 65,000
HZ PR OFMEALLD ol & 14,400 14,400 0
403 XX SHS K20 & 14,400 14,400 0
01 XIS A=Z2E X 14,400 14,400 0
OLZ:=0HA WA PH X 14,400
AA H2OHY 4 450,687 215,871 234,816
= 200,000
= 250,687
308 XX SHHSOIH 305,967 49,071 256,896
200,000
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A FE SN BN
g W==3H0g 243
S U= g s4 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
LAE HAMAH HMeldl X X& 10,500 21,000 A 10,500
403 UHXISHHSA=0l& 10,500 21,000 A 10,500
01 XM= E L 10,500 21,000 A 10,500
OLAE HAMON ™Meldl &X K& 10,500
HERY 300AM S (LHEHETHA) 3,292,720 0 3,292,720
= 2,917,600
=) 375,120
403 MtXISHH S =0l & 3,292,720 0 3,292,720
= 2,917,600
=) 375,120
01 AXISHHA=2E = 3,292,720 0 3,292,720
OUHE=L300AE (HSHETHA) 3,292,720
= 2,917,600
< 375,120
HYRIZH (F44t0H) 54,832 43,905 10,927
Jl=Zdl 54,832 43,905 10,927
Jl= &l 54,832 43,905 10,927
201 Lt 14,192 13,305 887
01 At 22l 14,192 13,305 887
OJle+=EHl 5,792
OJles gl 8,400
202 O4dl 30,240 28,350 1,890
01 = LH o4 HI 30,240 28,350 1,890
OJI20Hl 30,240
405 TtHabF S 10,400 2,250 8,150
01 AL ESH SHI 10,400 2,250 8,150
OAMRA Xt 4,400
O&E K= AL 6,000
HWRES(E54t10 101,500 101,500 0
WEHHX = 101,500 101,500 0
HEHH X = 101,500 101,500 0
705 ==& cl 34 101,500 101,500 0
04 Al - EXHHLII S0l == 0l Kt & & 101,500 101,500 0
OxMAZ M HEHX =4 101,500




N = 0l & At & M A

3= 2N SS9
=dgy 35
It AAIYE =& (&2 &)
SA-EY . BH(3H) - NEAY - BYS 0 Ak o8 ﬁlf& HDS2
i3 22,460,338 21,754,017 706,321
= 12,991,420
Dl 3,825,675
& 5,643,243
e EEER-E-E 19,468,764 18,876,827 591,937
= 12,881,670
Jl 2,179,315
o= 4,407,779
StA A =& 17,674,822 17,142,005 532,817
= 12,881,670
J| 2,179,315
o= 2,613,837
SAY g ¥ dIAFT 2 S XA 3,986,982 4,257,687 N 270,705
= 3,909,628
= 77,354
308 XX S M SO0l & 3,986,982 4,257,687 N 270,705
= 3,909,628
& 77,354
01 AXHNBAMNEXZ 3,986,982 4,257,687 N 270,705
OJsegd IJtasd 9,750
= 7,500
< 2,250
Ot WAL JIMs A 2,206,680
= 2,206,680
OFAXE GPS S| AAXMEA SSHH *= 66,300
= 51,000
= 15,300
OFAMXe SEM 29 212,355
= 163,350
o= 49,005
O4a B24dety 2 2y HE S A 323,100
= 323,100
OYXARHEE XNEZXS AMH 24,000
= 24,000
OJ2sIt 2g2el N 21,000
= 21,000
O AED| sSLH XA 132,000
= 132,000
OsMz=4A298 & A~25HE NA 945,000
= 945,000
OaHEa WA 845 sl N3 3,250
= 2,500
& 750
OAl 2013 A EE X SHl K& 43,547
= 33,498
= 10,049
M AL XA 3,770,282 4,207,748 N 437,466




o= s38= EM  SSYAY
Ha: JlENEY I
Sl ROt eMY =T SREED
- _ — d =
224 ZB SN - HRAY - BES e 2
= 3,527,042
= 243,240
308 XX EHHSOIA 3,770,282 4,207,748 N 437,466
2 3,527,042
= 243,240
01 HIXNHHBNEES 3,770,282 4,207,748 A 437,466
OFME HgHs 23 2,584,242
= 2,584,242
OFHMSE MBS Al=Hl 474,500
= 365,000
= 109,500
OFHS HAFE 23H = 132,000
= 132,000
OgZAa Z=H & ESA=sH X2 579,540
= 445,800
= 133,740
b= =X At=2tel 1,885,000 660,000 1,225,000
= 1,300,000
= 585,000
308 A EHHSOIA 1,885,000 660,000 1,225,000
= 1,300,000
< 585,000
01 HXNHHNBMNEELES 1,885,000 660,000 1,225,000
OJ= 2K €248 MY 1,885,000
=2 1,300,000
< 585,000
IIEMEARA=S AR oA XA 1,681,667 ,663,900 17,767
J| 1,009,000
< 672,667
307 glz2+ol & 1,681,667 ,663,900 17,767
J| 1,009,000
< 672,667
03 QIAHMNHE2IHIEE 1,681,667 ,663,900 17,767
OJ=EdeARNd=R 2 1,681,667
J| 1,009,000
< 672,667
SSsSEHNHY 23 1,001,191 984,870 16,321
J| 912,315
< 88,876
308 XtXIEHHSOIA 1,001,191 984,870 16,321
J| 912,315
= 88,876
01 HXNHHNBHELS 1,001,191 984,870 16,321
OBSYME A 538,256
J| 444,380
< 88,876




A= =32 SN sEYAD
Ha: JlENEY I
Sl BoYeAMY =X ER-ED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
O3sZLHE 2gHl 467,935
J| 467,935
AXHEE2AS 3,357,000 3,357,000 0
= 2,984,000
< 373,000
308 XXM SOl A 3,357,000 3,357,000 0
= 2,984,000
< 373,000
01 IXNHHBMNEES 3,357,000 3,357,000 0
O&Xz 243 3,357,000
2 2,984,000
< 373,000
NSEYUINSEE ANEAS 126,000 126,000 0
308 XXIEHHSOIA 126,000 126,000 0
01 HXNHHNBHELS 126,000 126,000 0
OJ=E&Y N2 (AY) 126,000
gAxte ¥ 2YE ZAEH & XA 1,461,300 1,225,700 235,600
= 1,161,000
< 300,300
403 HXSHHSA=0l& 1,461,300 1,225,700 235,600
= 1,161,000
< 300,300
01 HXSHMA2E X 1,461,300 1,225,700 235,600
Ox=xE KA 80,000
= 80,000
Oonsdaxtg X3 80,000
= 80,000
ONHE HMELSAE &X 748,800
= 576,000
< 172,800
OJ=dgY HEE A=5HE EE N2 32,500
= 25,000
< 7,500
OX=edgg Z2ALH DI 520,000
= 400,000
< 120,000
CCTv & gddelzmet XA 335,400 659, 100 A 323,700
J| 258,000
< 77,400
403 XSS A0l & 335,400 659, 100 A 323,700
J| 258,000
< 77,400
01 XM A2 X 335,400 659, 100 A 323,700
OCCTV & &doiZet X3 335,400
J| 258,000




4R =33 SN S22
M JlEFYY I
Sol: RIPSAY =X (B9 ®R)
- _ — d =
SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
< 77,400
HOoT 2HAY X& 70,000 0 70,000
308 AHAIEHHSOIA 70,000 0 70,000
1132 SoHUHeSBH4EAE ALS HI 70,000 0 70,000
Os4E J=88 oMW LML (UHS) 70,000
FEEEE oy 2el 1,793,942 1,734,822 59,120
OtZCIDIEH RIS E Ol & ALY 41,310 45,900 A 4,590
308 X EHSOIA 41,310 45,900 A 4,590
01 HXNHHNBMNEES 41,310 45,900 A 4,590
OOLZ2IItHXI S E Ol A 41,310
THSE & 455,000 363,200 91,800
201 Let24E] 8,600 11,600 A 3,000
01 At 22l 8,600 11,600 A 3,000
OFHAE, AHZZUASRAUI) SSLELURSE
= gl 1,600
Oggtd & =2t 7,000
203 ¥ S =&l 1,200 1,200 0
03 AIHZ=XH 2 =AY 1,200 1,200 0
OsS&IANHF=A 1,200
308 XX EHHSOIA 420,000 318,000 102,000
01 HIXNHHNBNEES 420,000 318,000 102,000
OFMSE MBS 2t 420,000
403 MHXISHE X201 E 25,200 32,400 AT7,200
01 X SHHA2E= 25,200 32,400 AT7,200
OFEMUE AL, HEALASAE &X 25,200
ARQUESFUI & 637,112 677,612 A 40,500
308 MXIEHMSOIH 637,112 637,112 0
01 HXNHHBHEELS 637,112 637,112 0
OAl SXI21M K& 573,000
o2l Al ol S 64,112
FEgADIEt 2= 305,300 290,700 14,600
308 XtXIEHH SOl A 263,300 248,700 14,600
01 AXHHILEES 263,300 248,700 14,600
OHE HMELSAIE 2ZH X3 72,000
Oax=sdsE & 7¢ 59,300
OZF=2A &AESXA 132,000
403 A X EHHS 20l A 42,000 42,000 0
01 AXISHHA2E = 42,000 42,000 0
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M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Het HEXE X 136,500 175,500 A 39,000
=2 105,000
< 31,500
403 UHXISHHSA=0l& 136,500 175,500 /39,000
= 105,000
< 31,500
01 HXESHMA=LE L 136,500 175,500 A 39,000
OXdeg d&3xed X 136,500
= 105,000
< 31,500
HUHSMSAMZTAIA 2 X2 9,500 9,500 0
= 4,750
< 4,750
308 XXM SO A 9,500 9,500 0
= 4,750
< 4,750
01 AXHHILEES 9,500 9,500 0
Ol FUESAEZAE 2= XE 9,500
= 4,750
< 4,750
FSMHERH2AS M2 A 105,000 105,000 0
308 MHXIEHMSOIH 105,000 105,000 0
01 X HHILEES 105,000 105,000 0
OHAE &~ MeldlE XI& 105,000
HY2HIH (SS8LA) 40,878 38,878 2,000
Jl=&l 40,878 38,878 2,000
Jl234 40,878 38,878 2,000
201 2et24d] 14,418 12,418 2,000
01 At 2teltl 14,418 12,418 2,000
OJl=+=EHl 7,068
OJlz2= &l 7,350
202 (44l 24,460 26,460 A 2,000
01 2404 bl 24,460 26,460 A2,000
OJl=0tl 24,460
405 XtabFE SHI 2,000 0 2,000
01 AR ESFH S 2,000 0 2,000
Odter] 2,000




